SUNSHINE SECONDARY SCHOOL

MATHEMATICS
END TERM EXAM
Form 3 Term 2 2019
PAPER 1

TIME: 2%HOURS

Name: M f L HE MdE - Adm No.

Class: Date:

Instructions to Candidates

1. Write your name, admission number and class at the fop of this paper.

2. The paper contains 2 sections; Section A and Section B.

3. Answer ALL the questions in section 4 and in section B in the spaces provided
4

Non-Programmable silent electronic calculators CAN be used .

For Examiners Use Only,
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fraction in its simplest form.

Without using a mathematical table or a calculator, evaluate leaving your answer as a

(3mks)
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2. Given that sin (2x-30)° - cos (3% -50)° = 0, find the value of x (3mks)
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5. A Kenyan bank buys and sells Nigerian neira and Canadian dollars at the following rates.

Buying (ksh) Selling (ksh)
1 Nigerian neira 32.58 36.42
I Canadian dollar 91.52 98.99

Mrs Obasanjo a Nigerian arrived in Kenya with 46,000 naira. She exchanged the whole amount
to Kenya shillings and spent a total of Kenya shillings 720,000. She later changed the remainder
to Canadian dolars on her way to Canada. How much did she receive to the nearest shilling.
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6. The interior angles of an octagon are 2x°, 1/2x°, (x+40)°, 110°, 135°, 160°, (2x+10)° and

185°. Find the value of x. (2mks)
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8. Solve the equation leaving the answer in its simplest form. (3mks)
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9, A triangle has vertices A (2,5) B (1,2) and C (-5,1) detemnne

-
i) The equation of line BC \Q»Q‘M e (2mks)
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i1) Line AK is perpendicular to BC, find the equatlon of h;ie AK. (2mks)
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10. A farmer has 3 containers of capacity of 48 litres, 36 litres and 27 litres. Find the

smallest container that can be filled by each of them an exact number of times leaving

your answer in standard form. (3mks)
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11. The angle of elevation of the top of a tree from a boy’s eye positioned at point A is 20°.
The boy moves 100 metres closer to the tree and the angle of elevation becomes 32°.

Find the height of the tree ( disregard the height of the boy) ) (4mks)
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12. Given thata =4i- 4j, b =2i+ 3j and ¢ = 16i + 26j find the scalars m and n such that
ma +nb =c, (4mks)
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13. Solve the simultaneous inequalities and represent the solution on a number line. (3mks)
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14. The ratios of the base areas of two cones are 9:16. If the larger cone has a volume of
125cm?, find the volume of the smaller cone
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15. The figure below is a prism whose cross-section is an equilateral triangle AB = 3cm
BE = 5¢m.

Draw the net of the prism.
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16. A numberhzl\is formed by writing all the prime numbers between 0 and 10 in an ascending
order. Another number n is formed by writing all the square numbers between 0 and 10
in an ascending order.

a) Findm-n (2mks)
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b) Express (m-n) as a product of its prime factors. (1mk)
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SECTION II

17. The diagram below shows a frustum with an open end diameter of 30cm and bottom
diameter 24cm. The frustum is 30cm deep as below
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18. The following shows two circles P and Q with centre O1, and Oz respectively and their
radii are 9cm and 6¢m respectively. The common chord MN is 9cm long. (Not drawn to
scale)

a) Find the value of

i)  Angle MON (2mks)
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b) Find the area of (i) triangle MO{N (1mk)
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19. Two friends Abdi and Tom live 40km apart. One day Abdi left his house at 9.00a.m and
cycled towards Tom’s house at an average speed of 15km/hr. Tom left at 10.30a.m on
the same day and cycled towards Abdi’s house at an average speed of 25km/hr

a) Determine

i) The distance from Abdi’s house, where the two friends met (4mks)
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b) The two friends took 10 minutes at the meeting point and they cycled to Tom’s house at
an average speed of 12km/hr. Find the time they arrived at Tom’s house. (2mks)
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ii) Using a ruler and a pair of compasses only, show the relative positions of towns P, Q R and S.
Take a scale of 1 cm rep 50km. (5mks)
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21. a) On the grid provided, draw the square whose vertices are A (2, -2) B (4, -2) C (4,0)
and D (2,0) (2mks)

b) On the same grid draw
»
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i) A'B’C'D’ the image and ABCD under a reflection in the line x = 0 and state the )
coordinates of A'B'C'D’ ( )
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iii) Describe a single transformation that maps ABCD onto A"B "C"M (2mks)
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